
Multiplication Rhymes 
 
2’s 
Two shoes kicked the door, 2 x 2 = 4 
 
3’s 
1 - 2 - 3 - 4, 1 2 = 3 x 4 
3 times a day my bird eats six beans, 3 x 6 = 18 
3 times my dog ate 6 beans! 3 and 6 is 18. 3x6=18
Playing 3 games in 7 days would be fun, 3 x 7 = 21 
3 candies in 7 days. That’d be FUN! 3 and 7 is 21. 3x7=21
A tree (3) on skates fell on the floor, 3 x 8 = 24 
 
4’s 
1 - 2 - 3 - 4, 1 2 = 3 x 4 
A 4 by 4 is a mean machine, I’m going to get one when I’m 16. (4X4=16) 
6 and 4 are on the floor, 6 x 4 is twenty-four 
6 and 4 went out the DOOR. They came back when they were 24. 6x4=24
4 and 7 went fishing with bait. 4 X 7=28 
7 and 4 are running late, 7 x 4 = 28 
8 and 4 were sad and blue, 8 x 4 = 32 
Use your fingers when you're in a fix. 4 x 9 is 36 
 
5’s 
Two fives jump off the high dive, 5 x 5 = 25 
7 and 5 went for a drive. Who’s in the back seat? It’s 35 
 
6’s 
3 times a day my bird eats six beans, 3 x 6 = 18 
3 times my dog ate 6 beans! 3 and 6 is 18. 3x6=18
6 and 4 fell on the floor, 6 x 4 is twenty-four 
6 and 4 went out the DOOR. They came back when they were 24. 6x4=24
6 x 6, magic tricks, abracadabra 36 
In karate we get our KICKS! 6 and 6 is 36. 6x6=36
Multiplication is easy 4 me 2 do. 6 x 7= 42!” 
I know now and you do too! 6 x 7 is 42. 
6 and 7 isn’t hard to DO. 6 and 7 is 42. 6x7=42
Six asked eight for a date, 6 x 8 = 48 
6 & 8 went on a date. They came back as 48! 
6 and 8 went on a DATE. They didn’t get back until they were 48! 6x8=48
[bookmark: _GoBack]6 & 8 went on a date. They had to be back b4  8. (6X8=48) 
Jump up and down on the floor, ‘cause 6 x 9 is 54! 


 7’s 
Playing 3 games in 7 days would be fun, 3 x 7 = 21 
3 candies in 7 days. That’d be FUN! 3 and 7 is 21. 3x7=21
7 and 4 are (always) running late, 7 x 4 = 28 
4 and 7 went fishing with bait. 4 X 7=28 
7 and 5 went for a drive. Who’s in the back seat? It’s 35 
I know now and you do too! 6 x 7 is 42. 
Multiplication is easy 4 me 2 do. 6 x 7= 42! 
6 and 7 isn’t hard to DO. 6 and 7 is 42. 6x7=42
7 x 7 has four straight lines, which will = 49 
You are cool, you are fine! 7 times 7 is 49 
7 and 7 are doing fine, 7X7 is 49 
7 and 7 is cool and FINE. 7 and 7 is 49. 7x7=49
5, 6, 7, 8! 56 is 7 and 8! 7x8=56
9 and 7 climb a tree, 9 x 7 = 63 
12 and 7 clean the floor, 12 X7 is 84 
 
8’s 
A tree (3) on skates fell on the floor, 3 x 8 = 24 
8 and 4 were sad and blue, 8 x 4 = 32 
6 asked 8 for a date, 6 x 8 = 48 
6 & 8 went on a date. They came back as 48! 
6 and 8 went on a DATE. They didn’t get back until they were 48! 6x8=48
6 & 8 went on a date. They had to be back b4-8. (6X8=48) 
5, 6, 7, 8! 56 is 7 and 8! 7x8=56
Stomp your feet and shut the door!  8 X 8 is 64! 
I ate (8) and ate (8) and got sick on the floor, 8X8=64 
I ate and I ate and I fell on the FLOOR. I didn’t get up until I was 64! 8x8=64
Eight time eight fell on the floor, picked it up was 64.
9 and 8! What do they do? They go play with 72 
 
9’s 
Use your fingers when you're in a fix. 4 x 9 is 36 
Jump up and down on the floor, ‘cause 6 x 9 is 54! 
9 and 7 climb a tree, 9 x 7 = 63 
9 and 8! What do they do? They go play with 72 
He stood in line and ate a ton, 9 x 9 = 81 
 
12’s 
12 and 7 clean the floor, 12 X 7 is 84 
12 x 12 give 4 more, 12×12 is 144

